JAOPRODUCTS










“You know all those
things you have always
wanted to do?

You should go

do them.”



ALWAYSUSE MEVERUSE NEVER CARRY MNEVER USE
AN APPROVED ONPUBLIC PASSENGERS WITH DRUGS
HELMET AND ROADS OR ALCOHOL
PROTECTIVE
GEAR




M2.5—@ —JQBO384
lo) — JQB0331
JQBO340 )
(@ JQB0037
Qo

O
JQB0330 () —
JQB0331 —

(X2 ) Rear

M2.5 —JQB0409
—JQB0332
JQB0301 @@ P
|£ @—l JQB0237
JQB0330 (O
(@ o8
JQB0332— JQBO905—— ,@
©‘- THEADVICE
K
— JQB0341 o
f 350 front
J 400 rear
@ > JQB0420
JaB0s29 < > ¢ if weather is
(X2 JFront cold, try
JQB0334 thinner oil,
if it is very
hot, try
~ thicker oil.
‘ @ﬂ JQB0333 ——
N M2.5(4)
JQB0040 ——

© |

S 2.6x6x0.5(4)

@1

S 7x3.5x1.5(4)

JQB0347 —

N

Filling the shock: —JQB0040
- First pull down the piston.
@ U - Fill the shock to the brim.
- Then slowly move the piston up and down to remove excess air. JQB0905 ——. — JQB0348
O 7x3x2(8) - Wait until you can’t see airbubbles in the oil. @
- Tighten the shock cap 1 turn, then push the shaft in leaving 10mm
of the shaft exposed.
- Tighten the cap all the way, excess oil and air will exit through the
@ H hole in the cap.
0 10x1(4) JQB0037  Shock Bushings JQB0340  Front Shock Shafts
JQB0040 Shock Boots JQB0341 16mm CNC Shock Cap (WE)
JQB0237 7mm Ball For Shocks JQB0347 F Springs 7.25-Coil 70mm Med-H Grey
T"EBAG JQB0301 Rear Shock Shafts (Long) JQB0348 R Springs 8.25-Coil 85mm Med-H Grey
JQB0329 16mm Shock Bladder (WE) JQB0384 7x1.2 Flat Piston 16mm
JQB0330 16mm Shock O ring Set (WE) JQB0409 7x1.4 Flat Piston 16mm
A JQB0333 16mm RH Nut for Shocks 2pcs (WE) JQB0420 16mm RH Nut for Shocks 2pcs Black (BE)
JQB0334 16mm Silk Front Shocks (2pcs) (WE) JQB0905 Shock Plastic Parts

JQB0335 16mm Silk Rear Shocks (2pcs) (WE)



JQB0066——,
HeADVICE ——JQB0125 f“EADWCE
Put some JQB0032 Fill about
grease on

the outdrives

2mm over

cross pins

with 10000wt

silicon diff oil
JQB0062——

JQB0062

JQB0353

L 10

P 2.5x11.8(2)

@j @ : —M3x10
ANE :z

SFH M3x10(4)

O |

O 8.5x1.5(2)

—— JQB0042
S 6x11.5x0.2(4)

S 3.6x12x0.2(4)

O

BB 8x16x5(2) JQB0032 Diff Cup
JQB0042 Diff Gasket
JQB0062 F/R Diff Outdrive Pair
T"EBAG JQB0066 Diff Gear and Crosspin Set

JQB0125 Bearing 8x16x5 4pcs. For Wheels and Differentials

B JQB0200 Differential Crosspins (2pcs)
JQB0353 45/14 Front Crowngear




U—JQBOOM

JQB0066 ——
G B0
THeADVICE
tHeADVICE —JQB0125 Fill about
Put some JQB0032 | abou
2mm over
grease on cross pins
the outdrives with 6000wt
silicon diff oil
JQOB0061—

JQB0061 —0

C—1 O
P 2.5x11.8(2)

o

SBH M3x10(4)

O |

0 8.5x1.5(2)

JQB0066

S 6x11.5x0.2(4

=

S 3.6x12x0.2(4)

O

BB 8x16x5(2)

JQB0032 Diff Cup
JQB0042 Diff Gasket

JQB0061 Centre Diff Outdrive Pair
JQB0066 Diff Gear and Crosspin Set
T"EBAG JQB0125 Bearing 8x16x5 4pcs. For Wheels and Differentials

B JQB0200 Differential Crosspins (2pcs)
JQB0356 49t Maingear (WE)



B_JQBOOB2

JQB0066 —

THEADVICE
HeADVICE < | JQBO125 .
Put some JQB0032 Elmll ne:boczluetr
the outdrves eross pins
with 3000wt
silicon diff oil
JQB0062 ——
JQB0062
JQB0062 —0
JQB0125 ——
JQB0066
JQB0354
10
P 2.5x11.8(2)
SFH M3x10(4)
@ U JQB0200
O 8.5x1.5(2)
QB0065
S 6x11.5%0.2(4) @
S 3.6x12x0.2(4)
BB 8x16x5(2) JQB0032 Diff Cup
JQB0042 Diff Gasket
JQB0062 F/R Diff Outdrive Pair
T"EBAG JQB0066 Diff Gear and Crosspin Set
JQB0125 Bearing 8x16x5 4pcs. For Wheels and Differentials
B JQB0200 Differential Crosspins (2pcs)

JQB0354 45/14 Rear Crowngear



-

e
\

M5x4

}5 — JQB0059
—JQB0126
"6,: N
tHeADVICE

Use a small
amount of glue
to secure the nut
(M4)

THEADVICE

Make sure the
hingepin moves
freely. Use an
arm reamer if
necessary.

Set M4x8(2)

U ©

Set Moxd(1) eADVICE

Do not
@:ﬂ overtighten
check that arms

move freely after

SBH M3x6(1) tightening.

—

SFH M3x15(2)

: N \ JQB0410
Y JQBO071

BB 6x13x5(2)
JQB0022 Arm Holder Inserts JQB0410 F-F, A-plate Low (BE)
JQB0030 Front Gearbox JQB0411 F-R, B-plate Low (BE)
JQB0059 Centre Outdrive Pair

T"EBAG JQB0068 Inner Hingepins. 61.5mm Front 64.5mm Rear
JQB0071 Gearbox Screws

c JQB0126 Bearing 6x13x5 2pcs. For diff pinion

JQB0355 14t Diff Pinion

JQB0370 Hard Front Arms (WE)



, A
‘% R

A
()

M3x12

JQB0921

Set M3x3(2)

<
J
x
&
=

CJ1®©

Set M3x5(2)

= ©

SFH M3x10(2)

—©

SFH M3x12(2)

= ©

SBH M3x8(2)

—©

M3x8

BH M3x14(2)

Swaybar Holders

JQBO0031

Front Swaybar 2.3mm (White Edition)

JQBO0306

w

m

2

=

9]

3

=2
% =
s 7
5 @©
(20}
=
o =
L w
™ —
D N
» O
S O
m @
[cNe}
- ™

eBAG



JQB0001

M3x10

JQB0408

< M3x10

1

11mm

) 1>

©

)
<
o
S
o
g
=

JQB0054

JQB0920

JQB0050 —&))

Fit the link, so the line on the turnbuckle is on
the right. When you turn the link towards
the back of the car, it becomes shorter.

tHeADVICE

N M3(2)

D
S
x
[}
=
I
e
2]

BH M3x20(2)

Bodymounts

JQB0001
JQB0049
JQB0050
JQB0054

THE JQRacing 7mm Threaded Ball with Nut
7mm Ball for Upper Link

Turnbuckles, Upper Link

Upper Links

theBAG

Servo Saver Top Plate (BE)

JQB0920
JQB0408



tHEADVICE

The bushing JQB-070 stops the bearings from
being crushed when the setscrew is tightned.

If the bearings dont turn freely, after tightening,
add one shim at a time, until they do.

Normally 0-1shims

U ©

L ©

JQB0383 {. \——JQB0398
JQB0383

<—JQB0399

S M3(2)

[— ©

BH M3x14(4

[/ ®

BH M4x12(2

o K

BH M4x18(2)
2)

L1 0O

P 2.5x16.8(2)

SFH M3x23(

S 8x12x0.1(4)

@l

BB 8x16x5(4) JQB0070 Wheel Bearing Spacers JQB0395 18-20 deg C hub Left (BE, WE)
JQB0072 Hex Pin and Grubscrew JQB0396 18-20 deg C hub Right (BE, WE)
JQB0073 4.3mm Hex with Nut JQB0416 #1 Ackermann Plate 2.0 (BE, WE)
“'IEBAG JQB0125 Bearing 8x16x5 4pcs. For Wheels and Differentials jgggggg ﬁg: 21 g:zz::g E:EEE:: Ili?gﬁh(tB(EEWVEI)E)
JQB0337 Steering Knuckle Bushings (White Edition) ’
E JQB0304 Front Outer Hingepins
JQB0372 Driveshaft Pair L 90.5mm WE Front

JQB0383 Plastic Bearing Insert 4pcs (WE)



EADVICE

You can recognise the
reverse thread screw
by the fact that the
threads do not start at
thehead,there is a
2mm gap.

M3——

Reverse M3x23

© |

S M3(4)
Set M4x10(2)
H] @ = A teADVICE
Set M5x4(1) 2 o & “ | Use a small
N \Y) ‘ amount of glue

N M3(2)

© {

N M4(2)

@

BB 6x13x5(

)
H):u @ HEADVICE

Do not
SFH M3x23(3) overtighten JQB0206

check that arms

move freely after
tightening.

Reverse SFH M3x23(1)

L ﬂ

BH M3x28(2)

A\ \ 5 IR > .‘\‘ ; ——————— to secure the nut

JQB0022 Arm Holder Inserts JQB0336 One Piece Shock Standoff (WE)
JQB0029 Rear Gearbox JQB0355 14t Diff Pinion
'I'I'IEB AG JQB0059 Centre Outdrive Pair jgggﬂl ga';d ge?ftATS (‘&E) ©E)
. . -R, D-plate Low 3deg.
JQB0068 Inner Hingepins. 61.5mm Front 64.5mm Rear JQB0206 Square Insert Set 12Pcs (WE)
JQB0071 Gearbox Screws
F JQB0221 Bearing 6x13x5 2pcs. For diff pinion
JQB0309 Rear Low Antisquat Plate (White Edition)

JQB0334 Complete Front 16mm Shocks with Springs (2pcs)



THeADVICE

Place a grubscrew
in the other screw
hole for added

strength.

THEADVICE

Make wing holes on
2nd line behind the mark
to move wing forward.

©]

S M3(8)

O ©

Set M3x3(4)

L1 ©

Set M3x5(2)

i
(

mezs
M3x14

THEADVICE

Do not overtighten.
Tighten until the

end of the screw is
flush with the nut.

N M3

SFH M3x8(1)

Hj:” 6)@> Z S— M3x3
(((@ » —M3x3

SBH M3x8

—o (@ G

SFH M3x12(4)

[— ©

BH M3x14(2)

— ©

SFH M3x15(4)

—©

SFH M3x18(4)

L |

BH M3x28(2) JQB0001 Bodymounts
JQB0002 Wingmount
JQB0004 Wing (Black)

/;/W‘ &) | =k,
782 WAS) 577
Sao

\/

= — 1080031

THEBAG JQB0031 Swaybar Holders
JQB0107 Wing Shims
ﬁ JQB0307 Rear Swaybar 2.5mm (White Edition)

JQB0394 Rear Shock Tower (BE)
JQB0921 Swaybar Links



JQB0072 eADVICE

M5x4 JQBO0378 . .
JQB0125 The bushing JQB-070 stops the bearings from
D A being crushed when the setscrew is tightned.
If the bearings dont turn freely, after tightening,
/ < JQB0383 add one shim at a time, until they do.
JQB0073 Al A Normally 0-2shims

JQBO0070
JQB0383 ‘

JQB0072
JQB0073

JQB0383

H

S M3(2) THEADVICE

L] ©

Set M5x4(2)

~ Fit the link, so the line on the turnbuckle is on
— JQB0049 the right. When you turn the link towards
the back of the car, it becomes shorter.
JQB0920

%%JQBOOM

P 2.6x16.8(2) — JQB0050

M3x20

S 8x12x0.1(4)
BB 8x16x5(4)

—

SFH M3x23(2)

BH M3x20(2) JQB0049 7mm Ball with Nut JQBO0305 Rear Outer Hingepins
JQB0050 7mm Ball for Upper Link JQB0372 Driveshaft Pair L 90.5mm WE Front
JQB0054 Turnbuckles Upper Link JQB0378 Rear Hub Lgft, Hig.h Lin.k (WE)
BAG JQB0070 Wheel Bearlng SpaCerS JQB0379 Rear Hub nght, ngh Link (WE)
THE JQB0383 Plastic Bearing Insert 4pcs (WE)
JQB0072 Hex Pin and Grubscrew .
JQB0920 Upper Links
“ JQB0073 43mm Hex with Nut
JQB0125 Bearing 8x16x5 4pcs. For Wheels and Differentials

JQB0039 Fueltank Grommet



HEADVICE

You can recognise the
reverse thread screw
by the fact that the

threads do not start at
thehead, there is a

2mm gap.

Reverse M3x23

JQB0335

M3x8

©

2)

S M3(

il

N M3(2)

—©

SBH M3x8

\|
)

7
\

2)

(

(m— )

—©

SBH M3x15(

JQE0097

)

) —C)

SFH M3x23(1

Reverse SFH M3x23(1)

eCar Centre Diff Mount Front

JQE0097
JQE0098
JQEO0103

BH M3x28(2)

eCar Centre Diff Mount Rear
eCar Centre Diff Mount Top

One Piece Shock Standoff (WE)

JQEO336A

eBAG



©&—JaB0127

JQB0097

= D
M3x23 = .
% tHeEADVICE

Cut the bottom
corner for

13x16x0_1—© clearance.

C oy

JQB0416 ——¢

JQB0417
JQB0018

NOTE!

Insert M3 nut into
servosaver now. A small
amount of glue will help

Y keeping it in. ——JQB0097
JQB0051

g \ JQB0051

\ O J ©&——uaBo127
BB 6x10x3(4)
@ I 174

S 16x13x0.1(1) ®

JQB0192

SFH M4x6(6)

b ©

SFH M3x6(1)

= ©

SFH M3x8(4)

I

SFH M3x23(2)

, e Maxe —— @
IR GBI B ¥ e

. eEADVICE
M3x6 4 Do not use this
screw if it hit the
© servo!
0 2x35(4) JQB0018 Plastic Steering Parts JQB0416 #1 Ackermann Plate 2.0 (BE, WE)
JQB0051 7mm Ball For Steering JQB0417 Ackermann Plate Bushing 2.0 (BE, WE)
B AG JQB0097 Servo Saver Parts JQE0094 eCar Chassis
THE JQB0127 Bearing 6x10x3 4pcs for Steering JQEO0101 eCar Lgft Sld.eguard and Batterytray
) ) JQE0102 eCar Right Sideguard
l JQB0192 Chassis O-Ring JQEO0105 eCar Battery Straps
JQB0405 2mm F Carbon Gearbox Spacer (BE, WE)

JQB0406 2mm R Carbon Gearbox Spacer R (BE, WE)



)/

4 ,,/mr.
) '\v
A

=
(Y

vm.r«\l.

L

JQEO0106—

M4x14

JQB0046

SFH M3x10(2)
SFH M4x14(8)

= ©

SFH M4x10(8)

— ©

Bumpers

JQB0019
JQB0046
JQEO0106

Servo Saver Posts

eCar Steel Centre Dogbone Front
eCar Steel Centre Dogbone Front

JQEO0107

eBAG



HeADVICE
Fit the link, so the line on the turnbuckle is on

the right. When you turn the link towards
the back of the car, it becomes shorter.

JQB0914

; JQB0209
S0 /
—JQ@?@%J Q@

JQ500524§

THEADVICE

Use middle hole.
Note ball orientation

N M3(10)

— ©

SFH M3x12(5)

—

SFH M3x23(4)

1 “

BH M3x20(1)

JQB0006 Chassis Braces
JQB0052 7mm Ball For Steering (Outer)
“'IEBAG JQB0209 Steering Turnbuckle Short (Oldschool Ackerman Plate) 2Pcs
JQB0343 Front Chassis Brace
K JQB0914 Steering Links



S M3(5)
SFH M3x8(1)
Hj:ﬂ @ JQBOO53\®
N
y@g
Hj:ﬂ @ S JQB0914

SFH M3x15(4)

—@©

SBH M3x15(1) JQB0024 Servo Arms (YE and RTR)
JQB0053 6mm Balls for Steering Link
JQB0055 Turnbuckles Steering 58mm (YE)

IH[BAG JQB0914 Steering Links
l JQE0108 Radio Tray




SET M4x4(1)

©

S M4(2)

I==lE)

BH M4x10(2)

—©

SFH M4x14(2)

eCar Motor Mount

JQE0099
JQE0104

eCar 14T Pinion Gear

eBAG



=
&/'.adwmf;«,. )
i)

- \
g/

JQEO0105

A—JQEO0013

0 @

vl
x
[se)
=
-
L
(2]

©
I

S
o
X
[}
=
I
[aa]
2]

Receiver Box (YE and RTR)

eCar Battery Straps

JQB0013
JQEO0105

eBAG



JQB0074

7
0

JQA0023 Antenna Tube (Black) 10pcs
T“EBAG JQB0074 Serrated Wheel Nuts
JQB0168 Bodyclip



THE Next Chapter Begins...



NG

AGAINST THE ODDS

THECar Black Edition - Set Up Advice JRAC

Explaining to someone how to set up a car is extremely difficult, because the
subject is very complicated, and no one can claim to know exactly what is
going on at all times, and how things actually interact with each other. Car set
up is constant searching, learning, and work in progress. We have tried to
gather the most valuable information for you and compress it here into an as
short as possible and as simple as possible set up guide. For more in depth
explanations and theories please read our guides on our website,
stories.jgracing.com.

One thing to keep in mind, is that the set up changes can have differing
effects on the handling depending on traction levels of the track, and the
driver's driving style and skill level. To truly get the most of this and other
guides, and for you to understand how to set up the car, there are no
shortcuts. You need to take the time to try changes one by one, record lap
times, and note down what you feel happens. Repeat this over and over at
different tracks. Read this and other guides over and over. Then repeat again.
This is the only way to learn. Good luck!

THE Golden General Rules

*Do always check our website. There is a ridiculous amount of information
there, in video and text form.

*There is no reason to feel overwhelmed with set up options. Just because
they are there does not mean you have to try them all. Stick to the standard
set up if you don't want to experiment. We have spent an enormous amount
of time developing this car to where the standard set up will work well for
anyone on any track. If you realise you want the car to do something different,
check our “Brainstorming Section”in this manual for a simple idea or two to

try.

*If you get lost, revert back to our standard set up. You will always find our
most up to date standard set up on our website. We are constantly improving
it.

~N




THECar Black Edition — Set Up Advice JRACING

~N

*Read the guidelines in this manual. It is possible to set the car up in ways that
will make it perform badly. Remain within the options we explain later in the
manual.

*Camber tends to work the best when it is 0-1.5 degrees on the front, and
1.5-3.5 degrees on the rear. If you want to really feel the effects of camber, and
find your very own sweet spot, have your mechanic make changes of two flat
spots on the turn buckle at a time, quickly in pit lane, and keep on driving
until you find a setting that you are most comfortable with. It makes an
unbelievable difference.

* For the adjustable weight distribution, arrows back on mount, front
mounting holes is a very good general set up (stock setting). It works
everywhere. For a very “jumpy” tight track, moving the engine all the way
forward (arrows and engine forward), may be better. These are the only
locations we use. We don't use the rear holes, but if you like, you can try them!

*The upper links, with which you set the roll centre of the car, are arguably the
most complicated to explain and to understand. Here track conditions and
driver input play a large roll. A driver that pushes the car to the level “X" may
prefer a certain setting, while another driver pushing it beyond level “X” may
cause the car to do unexpected things due to the setting only being good to a
certain point. The traction level of the track may also cause similar situations.

*Whatever you need, just ask us. We are here to help you.




i - NI
Upper Camber Links dRACING

~N

In general, a shorter, or more angled (lower on the inside than outside) link
will make the car more aggressive, responsive, and will provide more traction
up to a point, after which it goes away suddenly. It will also be more nervous,
and want to flip over more in bumps or on high grip. A longer or less angled
link will make the car more stable, and less responsive, and will provide more
even traction, with the loss of traction happening smoother, but it will also be
harder to save it, and get back in control. The car will also feel like it is “in the
track” more, and will be a lot less likely to flip over in bumps, or on high grip.
Applying more throttle will actually keep the car from flipping over, and help
you gain control in tricky situations. This is how the car is set up as standard.

Some Advice: Over the years we have realised that the links work very well on
all tracks in the same positions. We mainly use other ways to set up the car,
sway bars, springs, down travel, anti squat, toe in, camber. Only if we feel that
the balance of the car is very wrong, do we venture into changing link
positions, or if we already tried the other options, and are still searching.

In loose conditions, try lowering the rear link, 1 hole on the hub and the tower.

1. For more aggressive drivers, and for more steering, try angling the link
one hole in the rear, so top hub middle tower, or lower hub lower tower.

2. For smoother steering raise the link to the top hole on the front tower. For

most aggressive steering lower it to the lowest hole. The standard setting

is in the middle, and will work everywhere.

For a different steering feel, lengthen the front link on the c hub.

4. Almost always run the top hole on the c hub. If you are desperate, and
you need more steering on a slippery track, try the lower hole on the hub,
and lowest on the tower.

o




NG

AGAINST THE ODDS

Sway Bars {RAC

The stock setting is 2.3mm front, 2.5mm rear. The sway bars are a very
effective way to adjust the car. Sway bars and down travel are actually enough
to make the car comfortable to drive on any track! A thinner front bar gives
more steering. A thicker front bar reduces steering, but increases response,
and can actually make the car harder to drive. A thinner rear sway bar adds
rear grip, but makes the car unstable on power if there is traction. A thicker
bar is often the way to go, helping the car to stay flat and maintain its'
composure while cornering and accelerating. A preferred set up is actually
2.2mm front, 2.6mm rear, and on higher grip 2.4mm front, 2.8mm rear.

Down Travel

After extensive testing, we have found, that the best shock lengths range
from 99mm-102mm front, and 119mm-123mm rear. Down travel is a good
setting to play with from track to track. It’s best to start off with the maximum
setting and reduce 1Tmm at a time. The most common setting is 101mm front,
120mm rear, with shocks 1 from inside on towers, and middle arms, resulting
in about 57-60mm down travel with tyres on. Please check here for a good
post explaining down travel, along with a video.

~N




28

1

L

1




NG

-ront End Set Up dRACING

Ve

We almost always run the 18 degree Caster, #1 Carbon Steering Knuckle Arm,
front hole on the ackermann plate, with 0 inserts in both A and B plates. This
makes for comfortable steering on all tracks.

What you can do is make small adjustments to front camber, bump steer and
toe out. Getting these small and often over looked settings right smooths out
the steering and makes the car more consistent and easier to drive. More toe
out will make the car less responsive and improve it in sweepers. Finding the
right camber setting will provide the most consistent steering, a very small
amount of camber is preferred. Bump steer changes depending on the upper
link position, so use the eccentric link balls, and shims, to reduce it, and bump
out slightly as the suspension is compressed.

In extreme conditions we may change something up, but as of the deadline
for printing this manual, we have not yet encountered such conditions. As a
rule of thumb, if you feel that the steering isn't smooth on a high grip track,
move the link backwards on the ackermann plate. For more, check our
website.

Front Arm Modification

The front arms need grinding in order to increase the down travel. The reason
the arms aren’t right from the start, is that originally the front end geometry
was quite different. The arm was already moulded when the geometry was
changed, and this resulted in the front end not having sufficient down travel.
This is why we strongly recommend everyone busts out the dremel and
increases the clearance for the ¢ hub, and also for the chassis tab. You need to
be able to get 102mm front shock length.

If you enjoy working with the dremel, you can do one more thing. Shave off
2mm off the back of the arm, and use a 2mm shim in front of the arm. This will
improve the on power steering of the car, and handling in general. #protip.
This way you have one more adjustment to play with.

~N










NG

Rear Hub Insert Toe In ARACING

The rear hub inserts make it possible for you to set the height of the hinge
pin, as well as the toe in amount. 0, 0.5 and 1 refer the amount of toe in, in
degrees. The + sign on the 0.5 and 1 degree inserts must always be placed
towards the inside. This way toe in is increased. The dot in the insert means
that the hole is placed halfway between the middle and the end. The gap
between the different hole locations is 1Tmm, which gives a total movement of
4mm. As mentioned before, we only use the middle (highest hub) to highest
hole (lowest hub). That is 2mm of movement.

The toe in increases the rear grip. The 0.5 degree insert really puts the rear end
on rails. If you run too much rear toe in, it will noticeably slow the car down, as
the rear tyres resist forward movement, and it may cause you to have a false
sense of traction, where you have traction up to a point, and then suddenly
loose it all. Most of the time 0 or 0.5 inserts are used. For more steering, and a
more free rotating and faster feeling car, go to the 0 inserts.

Rear Hub Position

We have 5 possible positions for the rear hub, front to back. However, we only
use two of these positions, and recommend that you do so also. Most of the
time we run the rear hub with 1 shim in front of the hub. Sometimes on high
grip, or on bumpy tracks, we prefer to move the rear hub back one spot, so 2
shims in front of the hub. The stock setting provides the best overall traction
and balance for the car. Moving it back one spot improves it in bumps and on
high grip. If you want to get really fancy, use Tmm shims and create a position
in between!

~N




NG

Anti Squat dRACING

The most common setting is 0 in the 3 degree stock D-plate (toe in plate), and
1 hole up in the stock C-plate (anti squat plate). This is 2 degrees of anti squat.

With the O insert in both plates, the anti squat is 1 degree. Knowing this you
will always be able to calculate the amount of anti squat you run.

For example, raising the anti squat insert to nr 1 hole up, increases the anti
squat to 2 degrees. If you then lower the insert in the D-plate to 0.5 hole
down, it makes it 2.5 degrees anti squat, and so on.

The most common settings are 0.5, 1, 1.5 and 2 degrees of anti squat. The
bumpier or more slippery the track is, the less anti squat you run. The
smoother and the more grip the track has, the more anti squat you run.

Rear Arm Height

Changing both inserts in the C and D-plates, you can adjust the height of the
rear arm while maintaining the same anti squat. Lowering the arm will result
in a softer car, that rolls more and has more rear traction. Raising the arm
makes the rear end act stiffer, and lowers the grip level. The distance between
a0anda0.5insertis 0.5mm, 0and a1 insert Tmm. A change of 0.5mm in arm
height is already noticeable!

We almost always run the rear arm height with a 0 in the D-plate, adjusting
the anti squat in the C-plate. Sometimes we look for more grip by lowering
the arm 0.5 from our setting.

Toe In

The stock toe in plate is 3 degrees, and will work well everywhere. If you want
more steering, and more corner speed, you can try the 2.75 or the 2.5 degree
toe in plates. And if you are really serious about dialing in your car, you can

try..

~N




— g NI
OPTION - Square Toe Inserts dRACING

~N

The stock setting is 0.5 insert hole out. This results in 3 degrees of toe in. The
angles/inserts work just like for anti squat, so going to nr 1 hole out, increases
toe in to 3.5 degrees.

Vertically the heights are the same as on the stock plate.

Unfortunately our know-it-all designer had a bit of a bad day when designing
the markings for the inserts, and they don't really make any sense at all. The
best way to understand what is going on, is to either keep the manual handy,
or look at the back side of the inserts, there you can easier see the placement
of the hole, if it is in the middle, half way to one side, or all the way. We would
like to apologise for the inconvenience, and would like to let you know that
our know-it-all designer has been punished.




— g NI
Suspension dRACING

~N

We like to work very hard on the suspension, so you can keep it simple.
Basically you can run the stock suspension settings on all tracks, and just
adjust the oils to the temperature. Grey springs front and rear, 7 x 1.2 front, 7 x
1.4 rear. Oils should be approximately 350cst (27.5wt) front, 400cst (30wt) rear
on a Finnish summer day (20 degrees).

NOTE: After production, we discovered what we believe to be an even better
suspension setting. 7x1.25 front, 7x1.35 rear, 50cst (2.5wt) thicker front, and
thinner rear than with stock. So 400cst (30wt) front and 350cst (27.5wt) rear at
20deg.

You can also try 5 x 1.4 front pistons on the front, which works specially well
on high grip flat tracks. Another thing to try is conical pistons, flat side up for a
more responsive car, with more grip, and flat side down for more corner speed
on flat tracks. However, the flat pistons are the safest bet, they will always
work!

For hot weather and medium to high grip tracks, we recommend running
harder springs, the JQ black, or new springs we are working on, which may or
may not be released when you are reading this. Check our website for our
latest set ups.

The stock shock locations will also work well on all tracks. You can try standing
the shocks up on high grip, or leaning them over on low grip, or bumpy
tracks. You can stand up the rear, and leave the fronts where they are, for less
steering and more stability on difficult tracks. You can lean the front over if
you want more steering. You can stand front and rear shocks up 1 hole at a
time if you want the car to jump more and land better.

We never move the shocks on the arm. We always run the middle holes, and
recommend you do so too.




ARAC

NG

Differentials

On the Black Edition you can get a way with running a lot thicker diffs than
before. The front ranges from 5-15k, the centre from 6-20k, and the rear from
3-5K. The thicker diffs just provide more drive, and make the car faster and
easier to drive on higher grip tracks. If the car becomes hard to drive on loose
or bumpy tracks, you should try thinner diff oils.

The front diff affects steering the most, a thinner diff will have more off power
steering, leading to a more twitchy car. It will have less on power steering, but
the increased off power steering will create a sense of more overall steering.
A thicker front diff will add drive out of corners, and improve on power
steering. It will make the car push a bit more entering corners, making it
easier to drive.

A thinner centre diff will make the car easier to drive on power, so acceleration
will be slower, but more controllable. It can however also make the car more
nervous and erratic on high grip tracks, where a thicker centre diff will transfer
power more smoothly and evenly, and would actually make the car more
stable, and faster.

A thinner rear diff will have more off power steering, and can cause the rear
and to spin out in hairpins for example. Exiting the corner will be easier and
the rear will have more traction, although overall acceleration will be lower.

A thicker rear diff will have less off power steering and the car will push a bit
more on entry. It can make the car easier to drive off power for this reason. On
power, exiting the corner, the car will have more drive and acceleration, but it
can make the rear loose due to this, and you have to be more careful with the
throttle.

~N




NG

AGAINST THE ODDS

Smooth vs Bumpy Tracks dRAC

For a really bumpy track, the things you should try are reducing the rear anti
squat, buy using insert 1 hole up on the R-R (D-plate). This makes the anti
squat 1 degree from original 2. You can also go to 0.5 insert hole up on the R-F
(C-plate) to further reduce it to 0.5 degrees anti squat. The car will handle the
rough stuff better, but it will have less pop off jumps, and on rough jump
faces the rear might kick up if you don't hit it perfect. You will also have a bit
less steering.

You should also try maximum front kick up, by going to a 1 insert hole down
on the F-R (B-plate). This will make the car smoother in the bumps. It’s not as a
big of a change as the anti squat, but doing both together really improves the
car in bumps.

Finally you should try moving the rear hub back 1 step, to the middle. This
normally helps the car go through the bumps.

Those three changes are really the only changes | make. If it still doesn't feel
right, | try different diff oils, usually thinner oils are easier to drive, so maybe
6-6-3, or 8-5-3, it depends on the situation.

In Conclusion

Smooth Track

Stock setup

Try slightly less down travel, 1-2mm shock length.
25-27 ride height.

Try thicker swaybars, specially in the rear.

Bumpy Track

+ Less anti squat
« Move rear hub 2 step back
« Thinner diff oils, 6-6-3

~N




High vs Low Grip Tracks JRACING

~N

The standard setup should always work, but what | have found, is that for a
low grip track, | just go to one thinner sway bar on the rear, a 2.4mm. That'’s
normally it. | leave the front one. | may also reduce camber, and even run 0-0.5
front and 1 rear. These changes give the car a bit more traction, and give the
rear a bit more grip vs the front, which makes the car easier to drive. If the
balance is good, but | need the car to roll more and generate more traction
overall, I will just go to 2.2 front, 2.4 rear sway bars.

Another good change to make on a loose track, is to just lower the upper
links, front and rear on the hubs, to the lower row. Keep everything else the
same, just lower the links. This makes the car feel more connected and stuck
to the track. If it doesn't feel right, try lowering the links on the tower too. So
basically you are going one step lower on tower and hub, maintaining the
same link angle, just lowering it. When the traction goes up, the car will want
to flip over easier, and that is why | start off with the links high.

On a high grip track, the basic setup is really good. If its really high, and also
high speed, maybe go to thicker sway bars, 2.4/2.6. If needed, maybe up to 2.8
on the rear. Harder springs could also be good, specially on the front. Harder
diffs also make life easier, going up to for example 12.5-10-5 on a very high
bite track.

Another good setup change is to move the rear hub 1 step back, so itis in the
middle. Also make sure you aren't running a too high ride height. Lowering
the car a bit on high bite helps, for example 25-26mm front, 26-27mm rear, or
same front and rear. finally reducing the down travel slightly, by only 1-2mm
of shock length usually helps get the car around the track. Most of the time
however, tracks get a bit rough and hard to drive in the mains, and | end up
running my normal down travel for the mains.

On a high bite track the stock arm positions tend to work best. Harder springs
and sway bars, rear hub back, and thicker diff oils are really the only required
changes in order to make the car comfortable to drive.




) — g N\
In Conclusion ‘ ““—3

~N

High Grip

- Harder springs, JQ black.

« Thicker sway bars, 2.4 front, 2.6 or 2.8 rear. Thicker front sway bar may
actually make car more nervous, try it to see.

« Rear hub one step back to middle.

« Thicker diff oils, 10-10-5, 12.5-8-5, 12.5-20-4. Play around, find what you
like.

« Move steering link on ackermann plate to the middle or rear, to smooth
out steering.

« Try slightly less down travel, 1-2mm shock length.

Low Grip

« Keep grey springs

Lower links 1 hole on tower and hub from where you are running them,
front and rear.

Thinner sway bars, 2.2/2.4, or keep front 2.3 if car has too much steering.
Thinner diffs, 6-6-3 works really well.

You can try 1 deg rear anti squat for more traction.




NG

Shock Bladders ARACING

As THECar is now performing very well, we have began experimenting with
other setup features that have been popular over the last few years. One such
thing is the bladders. What we have found is that cutting the stock bladder so
it is basically an O-ring, and building the shocks as emulsion shocks, the car
feels more plush, and holds it’s line better in long corners, indicating that it
has more grip, it's slightly more locked in. However, the biggest difference is
how it pops off jumps and lands. It pops less, and doesn't want to
"double-bounce” on landing. It just lands and soaks it up nicely. It's easier to
drive the car specially in situations where you land a jump into a corner and
have to immediately accelerate into the next section. The car settles faster and
just goes.

If you look at the video above, the step on step off is one area where you
notice a difference. The car lands and settles better when jumping on, which
makes jumping off easier, even though you do lose a bit of “pop” on the jump.
When jumping off it is also easier to carry speed through the corner and into
the next section.

Another area where the emulsion shocks were clearly better, was flat landing
at 34 seconds, and maybe most evidently negotiating the following double
double and accelerating onto the front straight. Where before you had to be
careful, land well, and then accelerate, now it was a lot easier and did not
require the same precision.

So for now we are running emulsion. | can see emulsion being worse on very
high traction, or when you need more snappy response and “pop” over jumps.
Again, both bladders and emulsion works, but emulsion is easier to drive.

To build the emulsion shocks, you follow the exact same steps as with a
regular shock with a bladder. | put a bit of oil in the cap too. | screw the cap on
a turn or two, hold the shock at an angle with the bleed hole facing up, push
the shaft in so 3mm remains visible, and turn the shock body slowly, letting
the excess air and oil out.

~N




NG

Shock Bladders ARACING

To build the emulsion shocks, you follow the exact same steps as with a
regular shock with a bladder. | put a bit of oil in the cap too. | screw the cap on
a turn or two, hold the shock at an angle with the bleed hole facing up, push
the shaft in so 3mm remains visible, and turn the shock body slowly, letting
the excess air and oil out. If you can feel the damping get harder as you move
the shock shaft in when you are done, open the cap 3/4 of the way, with the
shaft extended, and repeat the process. | build the shocks so they are dead.
After working the shock for a few seconds the shaft remains where | leave it
with 3mm visible.

Important Advice

One thing we realised with the original WE was that some drivers would
exaggerate their setup changes. For example, if we say a long link is more
stable, they would go to a link which was as long as possible. That doesn’t
really work with setting up a car, a change in a certain direction will be better
up to a point, and then going too far will be worse again. We have eliminated
a lot of these possibilities now, but please keep this in mind.

The setups mentioned in this guide work well, and are close to what you will
want. This means, that we recommend you stay close to what we post. If you
are not happy with the handling, it is most likely as easy as adjusting for
example your down travel by 1-2mm shock length, camber by 1-1.5 degrees
(0,5-1,5mm link length), sway bar by 0.1-0.2mm and diff oils buy a couple of K.
Going overboard is not a solution.

For the most up to date set ups, please check out set up page.

~N




— g N\
Shock Bladders ‘ ““—3

~N

If you can feel the damping get harder as you move the shock shaft in when
you are done, open the cap 3/4 of the way, with the shaft extended, and
repeat the process. | build the shocks so they are dead. After working the
shock for a few seconds the shaft remains where | leave it with 3mm visible.

Important Advice

One thing we realised with the original WE was that some drivers would
exaggerate their setup changes. For example, if we say a long link is more
stable, they would go to a link which was as long as possible. That doesn’t
really work with setting up a car, a change in a certain direction will be better
up to a point, and then going too far will be worse again. We have eliminated
a lot of these possibilities now, but please keep this in mind.

The setups mentioned in this guide work well, and are close to what you will
want. This means, that we recommend you stay close to what we post. If you
are not happy with the handling, it is most likely as easy as adjusting for
example your down travel by 1-2mm shock length, camber by 1-1.5 degrees
(0,5-1,5mm link length), sway bar by 0.1-0.2mm and diff oils buy a couple of K.
Going overboard is not a solution.

For the most up to date set ups, please check out set up page.

Any Questions

If you have any questions regarding setup, please just email me or Liam,
jg@jg-products.com or justliam@jg-products.com, or contact us on Facebook.
Thank you for your continued support!




- NI
QKK H h_a
AGAINST THE ODDS

Brainstorming Section

What to do, if you want your car to have:

More Overall Steering:

More Steering Into the Corner (Twitchy):

2.5 degree rear toe in (Less rear toe in)

5000 front diff oil (Thinner front diff)

2.1 front swaybar (Thinner front swaybar)

2.6 rear swaybar (Thicker rear swaybar)

Move shock in on front tower

Short rear arm, with inside column for rear link

Ackermann in middle or rear hole

3000-5000 front diff oil (Thinner front diff)

15 deg caster (Less caster)

Front shocks out on tower

Front link in lowest hole on tower

Harder front spring

Steering link middle or rear on ackermann plate

More Steering Mid-to-Exit of the Corner and On-Power: Less Overall Steering (Stable):

10-15k front diff oil (Thicker front diff)

20 degree caster (More caster)

Steering link in front hole on ackermann plate
Move front arm 2mm back

Lean front shock in on tower

0.5 or 1 degree rear hub insert

#2 Steering knuckle plate

2.5 front and rear swaybar

Long rear arm link in outer column lower hole,
inner column middle row on tower.

10k front diff (Thicker front diff)

4-5k rear diff (Thicker rear diff)

Less Steering Into the corner:

Less steering out of the corner

10-15k front diff oil (Thicker front diff)

Stand up rear shocks

Steering link in front hole of ackermann plate.
Maximum front kick up.

20 degree caster (More caster)

3000 front diff oil (Thinner front diff)
Less front down travel
15 degree caster (Less caster)

More Rear Traction:

Better Bump Handling:

More rear toe in

0.5 or 1 degree rear hub insert

Top hole rear hub insert (lower hub)

Middle inner tower, middle (or outer) lower hub for rear link,
with long rear arm.

Lower rear arm 0.5

Lean rear shock in one hole on tower.

3-5k in centre diff (Thinner diff)

Lean shocks down one hole on towers

102/123 down travel

29/29 ride height

0.5 hole down for antisquat, with 0 in toe block
Dot up or middle rear hub insert

Thinner diff oils

2 shims in front of rear hub (Rear hub back)
Cut tyre pins, inside and outside rows

More front kickup

More caster

More Acceleration and Forward Traction:

More stability in long sweeping corners:

10-15k / 10-15k / 4-5k diff oils (Thicker diffs)

Top hole rear hub insert (Lower hub)

On a high grip track, shorten the rear link on the tower.
On a loose track, lengthen the rear link on the tower.

2.5 front sway bar (Thicker sway bar)

2.6 or 2.7 rear sway bar (Thicker sway bar)
10-15k / 10-15k / 4-5k diff oils (Thicker diffs)
Harder springs

Less rear droop, by 1-2mm.




O

NG

Brainstorming Section oinh

Better Jumping Ability: What to do first on a high traction track:
Stand shocks up 1 or 2 holes 1 or 2 steps thicker swaybars, eg. 2.4/2.8
Increase antisquat, 2-3 degrees Reduce shock length 1-2mm front and rear, eg. 100/120
1 step thicker shock oils 25/26 ride height (Lower ride height)
Max front kickup Harder springs
102/123 (More down travel) Move link to the rear on ackermann plate
(mainly for better landing) Shorten rear upper link to outside column rear tower,
or keep same length and also move it out on hub.
2 shims in front of rear hub (Rear hub back)

What to do first on a low traction track:

Middle inner tower, middle (or outer) lower hub for rear link,
with long rear arm

More toe in

0.5 or even 1 rear hub insert

Lower rear arm 0.5

2.4 rear sway bar (Thinner swaybar)

Lean rear shocks over to 1 hole in from middle.

29/29 ride height (Higher ride height)

~N







	Front and back
	blank F
	Front 1
	Front 2
	Front 3
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	Back 0
	back 1
	back 2
	back 3
	back 4
	back 5
	back 6
	back 7
	back 8
	back 9
	back 10
	back 11
	back 12
	back 13
	back 14
	back 15
	back 16
	back 17
	back 18
	back 19
	back 20
	back 21
	blank R



